
Expanded to Standard Form (G)
Name: Date:

Convert each expanded factors form number to standard form.

1. (5× 100,000,000) + (1× 10,000,000) + (6× 1,000,000) + (5× 100,000) + (9× 1000) +
(4× 100) + (4× 10)

2. (5 × 100,000,000) + (8 × 10,000,000) + (4 × 1,000,000) + (6 × 10,000) + (5 × 1000) +
(6× 100) + (1× 10)

3. (8× 100,000,000) + (6× 10,000,000) + (4× 1,000,000) + (4× 100,000) + (2× 1000) +
(3× 100) + (8× 10) + (8× 1)

4. (7× 100,000,000) + (2× 10,000,000) + (8× 100,000) + (5× 10,000) + (1× 1000) + (2×
100) + (4× 10) + (7× 1)

5. (1× 100,000,000) + (6× 10,000,000) + (3× 1,000,000) + (2× 100,000) + (3× 10,000) +
(8× 1000) + (6× 100) + (1× 10) + (5× 1)

6. (3× 100,000,000) + (2× 10,000,000) + (7× 1,000,000) + (8× 100,000) + (2× 10,000) +
(1× 1000) + (3× 10) + (4× 1)

7. (6× 100,000,000) + (2× 10,000,000) + (8× 1,000,000) + (7× 100,000) + (3× 10,000) +
(4× 1000) + (1× 100) + (6× 10) + (3× 1)

8. (7×100,000,000)+(6×10,000,000)+(3×1,000,000)+(6×10,000)+(6×1000)+(8×100)

9. (9× 100,000,000) + (9× 10,000,000) + (6× 100,000) + (7× 10,000) + (8× 1000) + (3×
100) + (6× 1)

10. (9× 100,000,000) + (8× 10,000,000) + (3× 1,000,000) + (6× 100,000) + (1× 10,000) +
(7× 1000) + (3× 100) + (4× 10) + (9× 1)
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Expanded to Standard Form (G) Answers
Name: Date:

Convert each expanded factors form number to standard form.

1. (5× 100,000,000) + (1× 10,000,000) + (6× 1,000,000) + (5× 100,000) + (9× 1000) +
(4× 100) + (4× 10)
516,509,440

2. (5 × 100,000,000) + (8 × 10,000,000) + (4 × 1,000,000) + (6 × 10,000) + (5 × 1000) +
(6× 100) + (1× 10)
584,065,610

3. (8× 100,000,000) + (6× 10,000,000) + (4× 1,000,000) + (4× 100,000) + (2× 1000) +
(3× 100) + (8× 10) + (8× 1)
864,402,388

4. (7× 100,000,000) + (2× 10,000,000) + (8× 100,000) + (5× 10,000) + (1× 1000) + (2×
100) + (4× 10) + (7× 1)
720,851,247

5. (1× 100,000,000) + (6× 10,000,000) + (3× 1,000,000) + (2× 100,000) + (3× 10,000) +
(8× 1000) + (6× 100) + (1× 10) + (5× 1)
163,238,615

6. (3× 100,000,000) + (2× 10,000,000) + (7× 1,000,000) + (8× 100,000) + (2× 10,000) +
(1× 1000) + (3× 10) + (4× 1)
327,821,034

7. (6× 100,000,000) + (2× 10,000,000) + (8× 1,000,000) + (7× 100,000) + (3× 10,000) +
(4× 1000) + (1× 100) + (6× 10) + (3× 1)
628,734,163

8. (7×100,000,000)+(6×10,000,000)+(3×1,000,000)+(6×10,000)+(6×1000)+(8×100)
763,066,800

9. (9× 100,000,000) + (9× 10,000,000) + (6× 100,000) + (7× 10,000) + (8× 1000) + (3×
100) + (6× 1)
990,678,306

10. (9× 100,000,000) + (8× 10,000,000) + (3× 1,000,000) + (6× 100,000) + (1× 10,000) +
(7× 1000) + (3× 100) + (4× 10) + (9× 1)
983,617,349
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